EAGRAROBREERT — 2 N— ABISH —F

2020518198 (H) 19m{£E2H

/PR C2—18%# C2 H5%4mLE ‘ (xfz] 2 ‘ [3eEmsh]  — | & (A) 1400M TOE
[AE4£] 1% :250,000"  23#%&:75,000M ~ 3% :25000 M  43#%&:1500 M ~ 5 #&:10,000 M
B\ BB BB Mk HE BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
s — = RHEEC 132, 00— . - hEFE (£8)
ilglglEv=F15 o4 e 1(3_2)3 2-2-2-2 | 39.8 2 :439) i i
RiANTrz—J) B:eYSXAMLTa HE77—»4L
2 3| F7A 51 FXLZ o4 | HREAE 1:(312).5 7-6-4-1 |39.6| — | 6 | 413 ;E%%i )
RNy v ¥ - B:7-—~>bhO— b (-9) HET7—L
s PN B4 | B 1:32.9 4-3-3-3 | 40.2| — 7 477 | KBEER (1£5)
3l7|7|E-E-TT7> 54.0 @ 10y | (A P N
LE—E-HILEL BE-E-UT> =i 1
s = ¢ &K TEA ; 57— - INTEX (E8)
4 =S I EE it 4 oy 1(73%:? 5-5-7-5 | 39.9 1 ;1_712) i‘m_g*u
R:r—77520 BFLT0IRE—L AR5
i s 7 | AlER 1:32.9 8-8-8-7 [39.6| — 3 482 | BINEX (£R)
5 2| /TT4T M) — 54.0 (NF) wn | B J P NEEH
LGy —3IYTL BiFAXTL—I FH #A
e s aas HhEA :33. -9-9- . = AR (£R)
6!5/5| TP a i 5.0 1?13)1 5998 | .4 ° (‘?13) HhE .
R:yA7% B:IUT1T =RV a3 uREH
- N HKFRA : 45— - neE (&8
W ppar ez o | A Rl R
LI ATA—h— BN ITFoE— ®RE B&—
s - 4 s : ~7-6- - RIIEX (E8)
glalg|>zv 3y 5 T (17.3;% 6-7-6-6 | 40.3 8 ;1:;57) BlEX
RR=—HNE BTATATM—> =EEie]
SR Hehil :34. -1-1- . - BE—% (£H)
9/1|1|Y=x>330 o4 a2 1(354)2 1-1-1-9 | 41.7 4 :1_7;) i =]
R:RTY—b—A— BEHVTITYIT ol =331
® 1 — @B
|3=7r= 1,9,4,7,6,8,3,2,5
2ol=5"= 1,9,7,4,6,3,8,2,5
G=7"= 1,9,7,3,4,8,6,2,5
43—F— 3,9,7,4,6,8,2,5,1
[ N
B 9 580 714K 3-9 700 % E 3-8 3,850 &R 3-7-9 44,9104
# B 9 180 7-9 2,190/ B E 3-9 4,040M EE 9-3-7 130,690
3 310 3-7 8,360 B H 9-3 5,990
7 390M

ARICOVWTRDTEEERROODE. TR LI,




